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Instructions: Solve each system of equations to make it correctly through the maze. Shade or color 
your path as you go.

Systems of equations

Maze #1
Name: ______________________ Date: ________ Pd: ______

y = 6x – 13 
x + y = 22
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Instructions: Solve each system of equations to make it correctly through the maze. Shade or color 
your path as you go.

Systems of equations

Maze #2
Name: ______________________ Date: ________ Pd: ______

-3x – 2y = 7
6x + 7y = 7
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Instructions: Solve each system of equations to make it correctly through the maze. Shade or color 
your path as you go.

Systems of equations

Maze #1
Name: ______________________ Date: ________ Pd: ______

y = 6x – 13 
x + y = 22

Answer Key
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Instructions: Solve each system of equations to make it correctly through the maze. Shade or color 
your path as you go.

Systems of equations

Maze #2
Name: ______________________ Date: ________ Pd: ______

-3x – 2y = 7
6x + 7y = 7

Answer Key


